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Math for Everyday Life, Grade 11

MEL3E

	Midterm Test Review


WEEK 1

HOURLY RATE

Calculate how much these people make each year.  (They work 40 hour weeks)

a) John makes $22.00/hr.

b) Joanne makes $8.00/hr.

SALARIES

Ricardo makes $52,000 a year

a) How much does he make every week?

b) How much does he make an hour?  (He works 40 hours a week?)

OVERTIME

Lorraine normally works 40 hours in a week.  She gets paid $12.00/hr.  One week she worked 44 hours.  She gets paid time & half for overtime hours.

a) What is her hourly rate when she works overtime?

b) On the week she worked 44 hours, how much did she get paid?

PIECEWORK

Josie packs 120 boxes a week.  She gets paid $0.45 for every box.  She also gets paid $6.50/hr for her time.

How much did she make that week if she worked 34 hours?

WEEK 2

COMMISSION

Bobby-Ann sold $8200 of furniture in a week.  She gets paid 7% commission, as well as $8.00/hr for her time.

a) What is her total commission?

b)  How much money did she make that week, if she worked 35 hours?

WEEK 3

PAYSLIPS  (Lorraine is a Registered Indian.  The Sundown Inn is in the Town of Sioux Lookout)
	WEEKLY PAYSLIP
	Week ending  June 3

	

	Employee’s Name

Lorraine Jackson
	Position

Day Manager
	Company

Sundown Inn & Suites

	

	Earnings

	

	Rate

28.35/hr
	Hours

40.0
	Gross Pay

	

	Deductions

	Income Tax
	Canada Pension Plan

(CPP)

	Employment Insurance

(EI)
	Other Pension Plan

$0.00

	Union Dues

$0.00
	Total Deductions

	

	Net Pay

	

	Amount:
(This amount will be paid in cash, or deposited to your account according to your preference)


How much does Lorraine Jackson (last page) get paid biweekly?

BUDGETING

Use Lorraine’s information to fill in her budget.

	Bill
	Amount
	When due?

	Rent

Hydro, Sewer, Water

Satellite

Car Loan

Car Insurance

Credit Card
	$450

$289

$72

$350

$0

$150
	before start of next month (end of month) 

10th of the month

27th of the month

3rd of the month

end of the month

end of the month


	MONTHLY BUDGET

Name:  Lorraine Jackson
	Biweekly paycheque amount:

	Monthly bills paid from first paycheque:
	Monthly bills paid from second paycheque:

	Paycheque

Rent

Hydro, Sewer, Water

Cable/Satellite

Car payment

Car insurance

Credit card payments

Other bill __________

Total spent


	$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________


	Paycheque + carryover

Rent

Hydro, Sewer, Water

Cable/Satellite

Car payment

Car insurance

Credit card payments

Other bill __________

Total spent


	$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________

$ _______________



	Remaining from first paycheque
	$ _______________
	Remaining from both paycheques 
	$ _______________


WEEK 4

INCOME TAX

Registered Indians do NOT have to pay Income Tax if …

______________________________________________________________________________

______________________________________________________________________________

SALES TAX

GST is  _____ %

PST is _____ %

Registered Indians do NOT have to pay PST if …

______________________________________________________________________________

______________________________________________________________________________

Registered Indians do NOT have to pay GST if …

______________________________________________________________________________

______________________________________________________________________________

Calculate the total price (including PST and GST)

a) Geoff bought a truck for $23,000.

b) Star bought a truck for $23,000, and she had it delivered to her reserve.  She has a status card.

WEEK 5

MAKING CHANGE

What coins should you give to get the fewest coins back on a $10.04 bill?

(You have a $20 bill, 5 nickels, 3 dimes, and 5 pennies in your wallet).

	Question
	What should be entered into cash register?
	What is exact change calculated by cash register?
	Write the lowest number of bills and coins in the change on each of the lines

	You give $50.00 for a $36.48 item
	
	
	___  1 c

___  5 c

___ 10 c
___ 25 c
	___ $1

___ $2

___ $5
___ $10
	___ $20
___ $50


	You give $20.00 for a $18.59 item
	
	
	___  1 c

___  5 c

___ 10 c
___ 25 c
	___ $1

___ $2

___ $5
___ $10
	___ $20
___ $50



DISCOUNTS

Bobby-Lee wants to buy a speaker system is priced at $299.99.  There is a 25% off sale.

a) How much will the speaker system cost before the discount.  She is not a Registered Indian.)

b) How much will the speaker system cost after the discount?

WEEK 6

INTERNATIONAL SHOPPING

The exchange rate from USD to CAD is 1.179.

The exchange rate from CAD to USD is 0.847.

You want to buy a TV.  It costs $225 USD in Minnesota.

a) How much is the TV in CAD?

b) If you stayed for 48 hours in the U.S., how much GST & PST would you have to pay?

WEEK 7

BANKING PASSBOOKS

Complete this passbook

March 7

payroll deposit


350.00

March 9

debit card purchase 

63.00

March 10

transfer fee 


2.00

March 14

payroll deposit 

350.00

March 16

machine withdrawal 

80.00

March 23
l
loan payment 


164.00

March 31

interest 


6.45

	Date
	Transaction Code
	Debit


	Credit


	Balance



	Feb 28
	INT
	
	5.30
	1635.30

	Mar 7
	
	
	
	

	Mar 9
	
	
	
	

	Mar 10
	
	
	
	

	Mar 13
	
	
	
	

	Mar 16
	
	
	
	

	Mar 23
	
	
	
	

	Mar 31
	
	
	
	


SIMPLE INTEREST

a)  Joan invests $12,000 in a G.I.C. at 6.5%.  It is in the GIC for 10 years.

	Principal

P
	Interest Rate

R
	Time

T
	Interest Earned

I = P x R x T
	Amount at end

A = P + I

	
	
	
	
	


b)  Jean invests $2,000 in a short-term deposit at 1.5%.  It is in their for 8 months.

	Principal

P
	Interest Rate

R
	Time

T
	Interest Earned

I = P x R x T
	Amount at end

A = P + I

	
	
	
	
	


COMPOUND INTEREST

a) How many compounding periods are there in a year?

annually ___________

semi-annually ___________

quarterly __________

b) Lewis invests $8,000 in an RRSP at 8.5% compounded annually.  He takes it out 5 years later.

	Rate per year %
	Compounded
	Compounding periods in a year
	Rate per compounding period (i)
	Term (years)
	Number of compounding periods (n)
	Amount 

A = P(1 + i)n

	
	
	2
	
	
	
	


c) Roger invests $3,000 in an RRSP at 7.25% compounded quarterly.  He needs the money, so he takes it out a year later.

	Rate per year %
	Compounded
	Compounding periods in a year
	Rate per compounding period (i)
	Term (years)
	Number of compounding periods (n)
	Amount 

A = P(1 + i)n

	
	
	2
	
	
	
	














